[ el Aotz Sol7 qgre 42 n2 AL olu AY

L0ut 104j 104j

@ 10005 <, 10<]
@1001}, 1000 %F, <]
@ 100000, 1000000, 10000000
@ 100, 1000, 10000

® 1004, 10005 109

2 2 108t =5 2™ 1005, 10005k,

Ao

=

1 gyt




o
XS

)

olp

ClF

HE7 ¢ 2

=
=2

@




ol
o

ul
KO

HA sy

S

ok BgH A7 W

o]
=




T
3
=
NI —

N
ojn T

©)
,mm“ o O
<5
N —
o =
B by
o 3 5o
,.mro =t ‘ I I
I me IS
G~ 0 ©
ﬂ,_m o /W
o} =
Al m7__o —
oy <
ok ,Dl =
aT X
o i © ®

90° 4 =g|7]



7 74= (1] [2)[3] [4) [5 P} Ik, o) 54 A= 3 gl

)

WA N 2 5B WE 1), 74 30] LRl 42 dnely 7}

® 3000 @ 30 ® 3

7HE & gz E| 8 TS H 54321 Y4
J9B8=2 30] e 4= 300 Y T







7.

A A




o
oo
ki
ofl
fto

HA, 72t @9 2718 oA 2.

>
> ®eh: 50°

110°—(60°+70°)
:500 ‘

180°—(110°+40°)
=30°




=7F180m ¢

1271%

ul

z o2
FeB2 180+ 15 = 12(1F)

T
ZA,

G




10. gL UePEE f5F fge) 48 s IR ehd A,

U=HE HE o
O= O @s
o)
10
b)
0 i
e 5 | =
1,]11]. "?‘_]’:_‘u" :—7-‘1]—— e~

Folge 54, 2o 37, Sl 1 o= Aktsto] &9 A

o, 2 9= o= H2t]lA] 2419,

I 9x5+12x3+9x1=90(H
dF2A D 6x54+6x3+4x1=>52(3)
TFA D 1Ix54+9x34+13x1=95(F)
wEtA] 2 9] gkl ot




